Subtraction Problems Revision Exercise

Matt scores 89 points in a video game.
He plays a second time and scores 56.
What is the difference between his scores?

Amazonia are selling a microwave for £98.
Freshco say they can beat this price by £25.
How much are they selling it for?

A school has 978 pupils in May. In June, 115 6th years leave.
How many pupils are left?

Eilidh is baking a cake and the recipe says she needs 275g of flour.
She only has 110g. How much more does she need?

The distance from London to Paris is 343km.
The distance from London to Dublin is 464km.
How much closer is London to Paris than to Dublin?

Mrs MacKinnon is booking a holiday for her and her family. The cost is £792.
She can get a discount of £265 through work. What will her holiday cost now?

John is going on a road trip and his car says he has enough fuel to travel 361km.
He intends to stop at a fuel station 228km into the journey.

The fuel station turns out to be closed.

How much further can he go before he has to find another fuel station?

Ava and Innes enter a competition where you score points for correct answers
but lose points if you give a wrong answer. Here are their scores:

Score Deductions
Ava 854 215
Innes 906 288

Who won and by how many points?



89-56=33

£98 - £25=£73

978 - 115 =863

275g - 110g = 165g

464 - 343 = 121km

£792 - £265 = £527

361 -228 =133km

Ava: 854 - 215 = 639 points
Innes: 906 - 288 = 618 points

639-618=21
Ava won by 21 points

ANSWERS




